SRMAFHMBME  $255 1989

SUMMER (NH) u (50 N)
120E 150E 180 150W 120HW 90K

500 500

1000 1000

120E 150E 180 150W 120W S0W
CONTOUR INTERVAL = 1.0 CM/S

3.4.89 EFIIBIFAMEHREFERS (U) OEAGETESHA (50°N)

SUMMER (NH ) U 40 N
120€ 150E 180 150HW 120K S0W

7 0

500 500

100 1000

120 1506 180 150W  120W 90N
CONTBUR INTERVAL = 1.0 CM/S

3.4.90 EFICBIAMERERRS (U) OREHESA (40°N)
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[EWFEFPARE #2555 1989

SUMMER (NH) U (30 N)
o L20E  ISOE _ 180 150W , 120W  O9OW,
q P
500 500
1000 1000

1 20E 150E 180 ISDAN 120K S0W
CONTOUR INTERVAL = 1.0 CM/S

3.4.91 EFIIBITAHMERERES (U) OEFEBESA (30°N)

SUMMER (NH) U (20 N)
0 120E 150E 180 150W 120K SOW 0
i3 W F 5 Y r
500 -500
1000 -1000

FA
120E 150€ 180 150W 120W 90W
CONTOUR INTERVAL = 1.0 €M/S

X 3.4.92 BEFICBTAHMEHRETRS (U) ORERES A (20°N)
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SEBRERHMBRE 5255 1989

SUMMER (NH) u (10 N)
12OE 150E . 180 1S0KW 120KW 90K

1000

T120E  150E 1500 50W
CONTOUR INTERVAL = 1.0 CM/S

3.4.93 EFCBITLMEREEES U) OREMESA (10°N)

SUMMER (NH) u S N
120E 150E 180 150K 120KW 90W

500

1000 000

L

L 20E 150E 180 1500 120W  90W
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.94 EZFIBJHHAEHREGRS (U) OEEHESMA (5°N)
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SEWETHMHE H25% 1989

WINTER (SH) Uu (10 9S)
120E  150E 180 1SOW 120 L

500

1000 & 1000

" 120E 150E 180 150W 120W 90K
CONTOGUR INTERVAL = 1.0 CM/S

& 3.4.95 £F (FFIR) BIFHHEREERS U) OFEFERESA (10°S)

WINTER (SH) u (20 S)

_120E ISOE_ 180 150 120W_ . 90OMW

5004 500

1000+ 1000

T1S0E 180 1500 1200 90W
CONTOUR INTERVAL = 1.0 CM/S

X 3.4.96 A% (FEER) B HHERERESRS (U) OEBEREDA (20°S)
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[EWETEMRE 255 1989

WINTER (SH) (30 )
120E  150E |180 C150W . 120W . 90W,

sy G

500

1000 -1000

120E 150 180 150K 120H 90N
CONTOUR INTERVAL = 1.0 CM/S

3.4.97 £%F (¥ 2B HHHEFEARS U) ORFEWEST (30°S)

WINTER (SH) U (40 S)
1206 ISOE 180 1S0W  120W- _ SOHW_

500

1000

120E 150E 180 150NW 120HW 90W
CONTOUR INTERVAL = 1.0 CM/S

B 3.4.98 &F (FLIR) BT HMEEETERS (U) ORGEHES A (40°S)
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KEWRAEMERE 255 1989

WINTER (SH) U (50 $)
1206, ISOE 180 . 150W  120W . 90W

Y 1
:@//

120E 1S0F 80 1S0W  120W
CONTOUR INTERVAL = 1.0 CM/S

500

3.4.99 £F (BHI) 2B HEHRIEAERS (U) ORBERESA (50°S)

WINTER (SH) U (60 3
120E 150E 18 150K 1200
0 " \\\\j/ : 0
- \/\/ \SUD
1000+ 1000

1206 1S0E 180  1SOW  120W  90W.
CONTBUR INTERVAL = 1.0 CM/S

B0 3.4.100 4£ZF (B¥IK) (BT LHEHREFEES U) OEEGHIE DA (60°S)
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